Algd S =
stol 24
Aol wiet 25000 92 ATk 2 /Y B A | 3. 300g9] AFE &l Eol Yk 4279 %2 30g0lth
2T FAS ydolgt & uf, x 9t yAtolo] TAA o] AFE zg #Oﬂ S0l A &g & ygolat &
22(e, oA firt) [ 3, SH ] o, z 9} y Ato] o] A A 22 [HH4 3, St ]
25000 1
@D y . @ y 55000° ® y =20z @ y=10x ® y=2x
1 1
® y = 2500z @y = 25000z @y =15° ® y= 57
X
© V=550
300:30=2:y
(A3 F) = (N AFsHe FA) x (HL ) = S
wkhA] ¢ = 250002 y= El‘
Ty = b o) qam A 2 BT A 4 AlEme | 4 2009 £2FE ol o] St 279 Fe 20g0ch.
a o] ATE podo] o] 9l Aol kS yeola} Tt
A (ab, boa) A B AR gl i | o el SO W A U el
_ o, z &} y Afo] o] TA| 422 [Bh4 3, &3t
ot (Fa>b) [Hd 3, oM ]
> E: ® y=20z @ y=10z ® y=2
. 1 1
b= ApE il i
> HE Al 4 AR @y=1r Oy=ie
b ame ey (EE YD) 20
~<0°Ta>bolBRa>0,b<0 (ad=9 &k) = e o * 100 = 555 %

- —ab>0,b—a<0

wetA A (—ab, b—a) = Al 4AZH o] th.

100 = 10%
(79 &)




5.

108 10kmE 7H= 58
AYE ykmef & of 29}

Oy==x @ y=10z

@ y =80z ® y =120z

A7} Slek. o 125
yAtol o] A ST ohw

(@)y = 60x

1029 10km S 7HchA 1 A 7=

kA y = 60z 0]t

60 km = 7ot

I

vV V¥
02
L
o

[B1 3, &3}

B ‘
dc o as st oy - S oo, 2)
o|BE A (0, 2) C(a, 0)

. DABCD:ax§:8
a

450l 450L Q1 3ol &5 A9l gt 1 &l
Y 29 e oL, 715 A 2= ARty
2olgtl & of, 1 Bof 5L &4 EYUHE FEES
ol-gsto] +FE 7HE A& of A== ARk Aot
of 2} M1 4, 5]

A Ao] ¢y = @O]E_E
a2
T = 5-—E— q{?:lo]-tq
450
y=—=90
T
y =90




Bl (y ) o (¢ ) ol Hhule] steE y = L(q £
0) lc}
(1, 10) & FsHE BANL y = - ole}

Aeol T2 71A 122 15 Y 2
otz 2 o] 7| A|7F 2 a5}

@®© 18H @)20tH

Lo 2

=

a a

= = X -

y=—(az 0 15= 5
c.oa =180
180

y=7°ﬂy=9éfﬂ%‘5}fﬂgz—
cox =20

10. o= 282 F %‘4;—

AN z Foll id A

oJdrs ¢, D &
of, AtZt4d ACDB 2
Yol 5 FL5tozt,

[FHHE 4, 5% ]

=
[— ]

>
> =et: 24

oH =

B

H A9 HEES (a, b) 2t A |ab] = 16
HABO HEE (¢, d) & dtH cd=38
- (AHAFABCDE] Hol) =16 + 8 = 24




11. 9] 207t em , 017} yom 2 248 gol7}
12cm? & W, z &} y Ato] o] JAE Ue = 2 ZE
Z et M 5, 574
@)

y\
I
\ 0_3 61
@)
yll
(0] ﬁll x;
®
Y
A X\
o 4 =
@
yll
4__
o/
3 =z
®
ylk
4__
o/ | 5
3 T
1:z:y =120|B2 y = %(m > 0)
Aolejo] o B} 2 Solm Tefmi AL A
Wolt Tei 2] T f(4) = %4 _6olmz A (4, 6)
2 Ay

12. tte "3} go] £
A BFESy =
& o] aez 9)qf 9

X
2, &5y = bz 9

anvt AR AB E

w7 91 o] ghel

SEEETPEY N
[HH4 5, 54 ]

1 3 3
7< <7 1<b<*
@2_ <35 @ 1< 2
1 1 0
S <bh<?2 ;505
@jersr o]
®1<b<>

- 2
A (4, 2) S EHy =2 o THI 919] o]

X

a 8
D= = =8 = -

4,& Y -
r=28 Ut y=", y=4 B 4
A (4 2), (2 4 &y=to ol 4% 3D

1
2=4b, b= —

’ 2
4=2b b=

1
. =<b<2

S <b<




13. A7}t 4.5km 1 A ZF] A 7
A2e Lo 23 A4uA 10| €5/
£ B, #4E Horl= 6 / L
. 5 Agtol EA0l Zume | 3L
. At A Aolol g O T TITS 6

veRE kg emet gk £317} 45k & o £
& #5471 & WP B 2 5 Slckiof st
Fafolet.

[BH 5, 4]

Z319) %212 o 2 ¥

y=arolz=2 y=6<HYSH 6 =2a, a =
3 y=3z

=Tl £ ret & o,
y=brolez=4 y=4F HNUFIH4=4b, b=
1 y==x

£7F 4.5km O] APH R E B = o] AEE AZHS
¢ 2t shd

4.5km = 4500m ©|E& 4500 =z .. a = 4500
37t 4.5km O A2 E T ) A= A
r %2} 5tH

4500 = 3z ..z = 1500

kA, £3]= 4500 — 1500 = 3000 (
S 71tk of gt

FN'
r-\u:

), 50




